@TM ATM KOREA m
MEE SLIE @6
BK6 Composion List

HIZH part Name S 2| Model 22k Qi p56.6 DAILL 28
5221 Housing EK6 1 C.B #11 HOLE OP5 : 5.252; 5 o9 o
; 25
H| O 2] Bearing 60677 1SET \[—]\ V3
— — \
22} Color C65.5 2 N = I 3o
N\ Skl o
B2 Dust proof seal #6 1 KJ 7 . Q\tg
Z2T3HE LockNut RN6 1 x0.02 | s
38
2IUEE HEAIZ | i3x0s : 5 =
Set screw for Lock Nut )

DHUZ H|O{Z] WA|7}= High accuracy bearing changable

BF6 Composion List -Bm

— , 2-96.6 DRILL
-_‘?’-%%' Part Name S Model | FEQy C.B 811 HOLE DP12
22! Housing BF6 1 25 8
H| 012 Bearing 60677 1 .
ALHZ| - e
A2l Snapring 06 1 Ga N Il

- LY of®

P RS IOl

n K il

i 2620.08 | ‘ 7|

38 14
52
EK6 Composion List m
HZEH part Name S 2l Model 2EkQy 2-95.5 DRILL
L C.B 99.5 HOLE DP11
F22! Housing FK6 1 275
H| {3 Bearing 60677 1SET 8 et
635 ] | FEEA
Zt2} Color : 2 f 1 ‘
= _ — —
co7 EEZ N 2= <

BFZIA pust proof seal #6 1 T T&/T T 8 M6x0.75 IoIa]
Z23HE LockNut RN6 1 HH 21+O} é | i 0
2IHEE MEAIZ SON = 20|
Set screw for Lock Nut M3X0.5 1 42 4

DH9UZ H|0{& WA| 7} High accuracy bearing changable

EF6 Composion List 2-$5.5 DRILL -am

£ =Y Part Name S Model | QY C.B HOLE #9.5 DP11
522! Housing EF6 1 18 6
H|01 2 Bearing 60677 1
A 2] Snap ring 06 1 /\ ®
N IS coI
G/ olal] ©
T \J T N 1@
- - T
2140.02 | o 6]
30 P 12
42 H

MEZE RUE 203



@TM ATM KOREA m
MEE SL|IE @6

FK6 Composion List FK6

HIZH part Name S 2| Model 22k Qi 4-95.4 DRILL 25_75'5 -
3|‘—?-;é| Housing FK6 1 C.B 96 HOLEDP4 |5456 & 2.5
|01 searing 60622 | 1SET L i

C6-35 1 69 M3_ | T
Zt2} Color C6'7 1 ol \w_(j[j g
8214 Dust proof seal #6 1 76}7 E s . 75JL'_QQ H §
Z3AHE LockNut RN6 1 &, © a
Z2IHEZ NEAIR 8.5
Set screw for Lock Nut 'I'I‘ M3X0.5 1 71 13

DAHUT H|0{2] WA|7}5 High accuracy bearing changable

FF6 Composion List 4-¢3.4 DRILL .W

EZ PartName 22 Model | £ Qly C.B 6.5 HOLE DP4
5122 Housing FF6 1 6
H| 012 Bearing 60677 1
A2 Snapring 26 1 @b
8 I | g
O ag =REIN
ol® N
O @) s
SINE)
6|4
10

2.7 ‘

214.5
210
]
=
Sl
|
\
|
\
|
o | 196
©$9.5
\
\
i
|
06
®9.5

&9

N M6x0.75 o ‘ ‘
Thes || HEle 5 K
4.5

204 ATM KOREA





